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\%+by+cz+d = 0 SR ST a = b= 0 71, SR 7l -

(A)  x-TFN AR (B) z-TTFI I
(C) I e TR AW (D) y-STw TR |
- . b 4
In the equation of the plane ax+ by+ cz+d = 0, if a=b=0, then normal t
the plane is - ot
.(A) parallel to x-axis \/EB)/ parallel to z-axis @ O
C) non-parallel to any axis (D) parallel to y-axis.
© 2x-y+3z+7 = 0 O 2x-y+3z- 19, = 0 LT TR oo
(A) 2x-y+3z+13=0 (B)
-
; €©) 2x-y+3z-6=0 (D) \
L | - -
‘ The equation of the parallel plane equidistant
2x-y+3z+7 = 0 and 2x-y+ 3z- 19
(A) 2x-y+3z+13=0 2x-y+3z-13=0
C) 2x-y+3z-6=0 2x-y+3z+6=0.
\}é&ﬁwﬂcﬁa_ 2.3,?%:(3“?-_-3»‘(3:‘2)%
- -
(A) b©ENams Z@ . :
' - =
A W)
© asec NbER a 6 ¢ Em T
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-null vectors a, b, ¢ if (axb)xc =ax(bxc), then
- - L
b is parallel to the planes of @ and ¢ ‘{D _\5.'\‘5
— — . \O\'Q
a and ¢ are perpendicular to each other
-y - : -
a and c are parallel to each other or b is perpendicular to the planes of
- -
a and ¢
— .
D b is paralle] to vector a

7 of 24

Scanned by CamScanner

— = -

—_——



oz O

o - N ) e — ’ f‘ LA
Projection of the vector a =i -2j+k on b=41541+7k 1s . _
(A) -3' . ; ) 5 \

196
9
im 2n+l+3n*‘lmw
n—e« 2n+3n
]
e 3
lim 2n+1+3n*1
Value of S g
A 0
C) 3
\ W f(x)= x" /W AE n
!
'w.m-f(lhf—lf—)
@ 1
© 2" D) 3".
I f(x)= Qﬂgaposiﬁve integer and if ' represents derivative w.r.t. x,
" (n)
then_f(1 +f— m+....+f &) has value
A RN
* : 1y
\2)
Doy 3"
al0]
1
® 1
D) 11

: 8 of 24

Scanned by CamScanner



P e ey s - . & i‘_- by P T—p. - —
i . _,h-'"f lvi_','.
el GE R
M b : Wl
R N
' W

.
. o
B R Ty Sre— -
A ......... st § - aeh . V74 )4 i"‘: lL.‘. :
- Y
.

-
nll

A N\ '\ o '-”a‘:*'i"
110 4210 510, 10 %\;\“,\
Value of nu_':‘m[ ; *3 totn is e

@ 1 Y
1

: 2 (D) 11. k
(\ﬂxl-u-ummx-lﬂmmmmﬂm? ] O |

() R R Twor a1l St R <o A 0

B) &S ¥

- Which of the following is true for the function f(x)= |
(A) Continuous but nothing can be said about di
(B) Not continuous
(C) Differentiable.

Continuous but not differentiable.
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4 ) -11 . oon
; (A) tan 3 ® 2
-13 : -13
(C) tan 5 (D) tan 3
The angle

between the two curves x2 —4y and y =4x at their. pQuit i
intersection other than the ongm is : W

IR
(€ 12 ' , \‘uazan 1

3 :
tan™ 2 +
Sx - - x2
\,30/1’(::)— Jloge . wmmammvwwm
(A) 0<x<5 : ‘ o B) lsx
(€ 1<x<s (D) 09k«
The domain of deﬁmtwn of the function f(x) q& is
(A) 0<x<5 4 ,) e
\_/'~(;)/ l<x<5 ' ' 0<x§4. 'x\*‘h . r\v
\/4 - BN b /% -
. J' [1x=1]+]x - 3|]dxo% ¥ - \":\_ﬂ*v *K«:,V = ..,/@
2 - v - L\
~—
A S . ' (B) 3 A N ‘\ -
. (© 10 (D) 2. :\/ T xg"‘/
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Valucof'f [Lx— Jdx is ”i/ N
, o
. S ®) 3 -~ M
D) 2.

; +2 = o, Mp=%.@twmamgmuwmm

B) (y+1)%+4x=0
o (D) (y+1)%=-8x.
soluﬁon‘of the differential equai:ion (y+1)p -'p2x' + 2 =-0, where

A
\,l.x\) Y e o)
A (y+1)2=4x ' iy S O B) (y+1)*+4x=0 .
C) y?=-4x my‘+1)2=-ax.
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() - -cl‘a_c'-- & .i:2x3 + es" o

© c1x2_~'+‘cj2x3 + x5

B) ciez" + czea" +x°

(D) cl-x2 +c2x3'+%«=5x
ﬁﬁﬂm A f(1)=f(-1) 9% FA® MM g, b,
{w fia),.f (b)e £ () e Rt ot s b
B oreresfs . - i
(D) Y~ | , -
hsaquadmmﬁgplyuomalmx,umue f(1)=f(-1)andthreenumbersa |
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(D) none of these.
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If the relation between displacement, velocity and txme at any instant of a pa@
t

. moving i a straight line be s= ‘lz vt , where symbola ha.v]ng usual me '
the acceleration of the particle will be

(A) proportional to s (B) proportional to v
(C) inversely proportional to t. (D) constant.

. TSR TN (P FF WA @ Ry QUR W AR g 4T 51 @
Lul

() wRgE | (B)
(0) EEFIN T@m _ (D)
If for a particle 1 movmg in a plane magmtude

" be same, then the partlcle describes a ¢
(A) parabola

hyperbglé.. |
g Seer YW AW g ey

. (A oY - TR (B) eV -a% ANHoTEm

(C) &= s-a% AT |
For a particle a plane if tangential and normal components of
acceleration n magnitude then velocity of the particle is

(B) proportional to e~V
(D) proportional to s.

1 p? )
B 3% B
, ) =
If P be the momentum ofa particle of mass m,.then its K E.is
1 P2
&) mp B 7=
Xop2 - L
(€ 2 mpP (D) g
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(A) 1 9% Ty ol e (B) L G A0y AN WP

L1 '
(CF 7 O T corew v (D) 2 99@ qate A4el Qi |

Relation between distance from origin x and velocity v of a particle moving
straight line is given by v? -2 X - x? Y

lhcn centre of the simple |
motion of the particle with respect to origin is

(A) behind a C_hstlncc of 1 unit (B) ahead by a distan

! i.*ll

U2 unns

(C) behind a distance of l unit (D) ahead by a

41 «wfbm u Gt T frew ol =1 cute g
W v el @ gm, ww wnla saw Swe
%‘

2
@ Eixog[1+!_].~.
V 2

qi¢lq ﬂ‘mv:‘rilf‘: P |

" i)
V2 2 2 )
€ S—log zv — log 1 Vo
29 v2 ., yu2 u*
If a particle be pmjccted v ards with a velocity u in a medium of w

resistance Pproportion (o

are of the velocity and if V be the teiminal
attained by the particle is

v ut

/ 2
1-—V—~]
\ UJ

2
v
D) —lo
(D) gg

Xl'-{(x.y]::&sy} (B) X l{x.y) :';..li_ ]‘!,
g 'Xa"{!*'w: xz:.g:})r} D) X4={(xy) 2oy |
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Which of the following
W Xy ={(xy):xgy)

© X, = {(x,y): x22,y<l

X, yz20
L

A) >m+n-1

C) = m+n-1

is not a convex set ?

. "'-&«h—k‘;" r‘»a

B no-ff,..,; VWL ¢ e o
d ¢ '.. .1‘”;" iy I/' a-‘
3 e
L \ ‘ ) ¢ ,':‘,r

i

oluidp

2

} \P)/X ~{(x.lu) x Eu}

2
(B) [(x,y) Y }

m%mmanmmﬂmmmmﬂﬂmmmmwmxﬂ?bmwg

B) smin-l O

(D) = m+n,

In a balanced transportation problem with m origins and enti 1om the

number of occupied cells in any

(A) m+n-1
\)L-)/- m+n=~1

. F. 0, . (b’ ¢
. 2:1356 U et b 7 x 1076 2o g ¥ Sl

W 5
((C) 4

If relative error of the number 2°
in the number is

optimal solution is |
sm+n- l Al

(D) - S e

Vv o\
1 6 then number of corrcct digita e 7
ade
%me -

A S
© 4 ®) 7.
' \/
: rank) 2 T x-G WA
[yrea
@ 3 WAt 1 i) Qo
A A ,)_._A"Q 5\
() 693, ) e =0
2 1 . , _ '\\_'_q_."\". .
matrix | 1 x 2 | has rank-z, then values of x are v 5 N7
) ~
4 0 x+2 ‘) - X 0
. : ~ =
1 “ _\ L,
() 6ond Z B sandl s o "@,v. I
e
1 . (D) 6and3. o ,_\o) -,
(C) 3 and 1 o , .y\h\'*
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If for two unit « A A ' -
@ @ umtvectors. U and v, |C+;i=1,thenva.luc of I{:-i\vl is
7l V3. : ® 3 o
8, 15, 53 ' D) 2.
’ ’ » 49. 19 62 7 16 95. 77 t
. 2 N » . . L‘.] ’{'
A, 237 . 7 QR Mnefr wam o 1 R xw
(€ 273 (B) 22:3
6 The mean deviation abo . (D) 27. ° AR
==L on — '
. -?5’ 77 is about .rnedlan of the numbers %’ 15, 53040, 1862, .7! 6
(A) 7 =5
: (B) 223
. 273
/ : D) 2 ARG &+ EL
j | cos x| dx -93 W= N~ AL
o .. | e_l
. . ‘ g
@) o 3 S\«W"‘“ |
- C - ’ A \ .
( ) ‘,1 . . D) ' O,'Lr\ ‘F\S.\)\\q)
. x . _ \ . .
 Valie rj' I ' | \ ' ag \&A\
i of" | lcosx|dx is : e\

.(AT 0 .¢ A % \‘(’B)/l ; \SS'\'\'Q;}

\iﬁﬁ- -l D) 2. A

[P/ T S A QR e TR xSy - |

v x.-k WWG 9 y . . it v |
™ 4 " |
e (B) 5
- (Gl ir g D) %E

uation o( the.line .x+J3y+12=0 reduces to the form x = k when the

3
2n
] |
|
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respectively. The probabili

D) 1. ’
» 4 ’ ( ) ‘ O
1 ' ' 11 |
The probability of solving a problem by 3 students A, B and C are 2'3 an< 4 , i
. ' ‘
\

i s ty that the problem b; solved is ' '\3 A @ U’D . ) ‘L |
! M ? s Lras o I
| @3 o PR SS.E
| o 1

- Sh 238, 2y 1L MO 8.0, - 3.5 gy gy T 7 \"—- |
| W sewl (B) 3 aaty ‘

€ -3qa ; (D)

168.D. = 3:5 for the numbers 2% 8 2yand.

(A) 3and % ' LI SR

.’5“6\_ . ¥l
3 \
-33nd7  an

x3 -9x2 +14x 42420 *Memem

220t WIS 3 ;2 gy Perolr Y

YW Lae B 1.4, ¢ [AGSREES oW
_(..{a@ C) -~ 1, -4, -6 VD/-"I, s 6. '),'Y\")-V"‘",i*.** 5
G If ratio of two root‘of ei' +14x +24 = be 3:2, the roots are -(3’*;: PN _n
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2 _ax the circle
Area above x-axis enclosed by the parabola Y= and

x2+y =2ax, .a>0 is

n 2 o2
(A) (z-g) _ B) Z¢
' n 2).2
(€ -(;+%)a_2 (D) (E*E)a :
o R G 22 =z SRR TR R e O
A 1 . (B) 3 '
.10y 4 - (D) 2. .
For a complex number z, the number of solutions of the equation 2~ = ZQ
@& 1 | ' ® 3
(C) 4 (D) 2
S'Wﬂﬁmmmqmmm.mmmﬁmm FERA AT |
QRN (G- @ ARG SIS @ @A A | R T
TRERING: (G RGTR TR FS 7
.1 -

(A pl -
_ T .
) 5
In the fam:hes with tw me that probablhty is same for a child to
be a boy or a girl. Suc chosen at random and is found to have a boy.
What is the proba another boy ?
o 3

1
2
» : (D)
3

plw LI
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